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B Projection Plot

Try 2D Fit

Tight cut on My moq (5.272 < My mog < 5.285 GeV/c?)
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Try 2D Fit

Tight cut on My moq (5.272 < My mog < 5.287 GeVl/c?)
« ¢5>0.90

« PID>0.85

Belle

& -
= 220 F —§— data - -
S - Total Fit < 1400 —8— dam
:: 200 } B 5 K'Kn® -~ Total Fit
A = B — Kxr Zz b B = KK
E 180 E CIEIEY Continuum Background § 1200 —_\_ B — Krr
= 160 | s . i B L ELL BEEackgmund = £ - Continuum Background
140 E I thia ;ad(?mund 1000 — Ll BB Background
120 T — ' 800 [
100 e T B
B 600
80 N
60 400 [
40 = T u
= R 200 L=
20 — A e
1 1 :I S e e M MY YT Y B s s o |-T-\--|--|--T-T- = 2 & T e =
o PrOJectlon Plot %2502 015 -01 005 0 005 0.1 015 901 02 03 04 05 06 07 08 09 |
AE (GeV) mu_trans
» 0.15GeV < AE <0.05 GeV
g g T
5 'z
> C>04 Pl
g It
E el E oL
0= B
C 5 E ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
- 02 ~0.1% 01 ~0.05 0 0.05 01 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

AE (GeV) c



Next to do

* Preparing Note...



